
Question 1 

Question text 

Government of India’s objectives in adopting a cloud computing strategy is as follows: 

Select one: 

a. Optimum utilisation of infrastructure 

b. Speeding up the development and deployment of eGov applications 

c. Easy replication of successful applications across States to avoid duplication of effort and cost 

in development of similar applications 

d. All of the above 

Question 2 

Question text 

What is the fullform of IaaS? 

Select one: 

a. Infrastructure as a Service 

b. Intellect as additional Security 

c. Instrument as a Service 

d. None of the above 

Question 3 

Question text 

Which of the following is NOT a concern regarding GI Cloud? 

Select one: 

a. Interaction between Cloud Providers 

b. Privacy, Security, Compliance, trust 

c. Control of Data and Service Parameter 

d. Collaboration is hard using cloud 

 


